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- the value 64, ten thousands and the number on the million and the number on

Counting in 10s

Counting in 100s

365 | 375 | 385 | 395 | 405 | 415

2841 ‘ 2941 l 3041 | 3141 | 3241 ‘ 3341

The tens increase until 9 tens becomes one more
hundred and O tens.

more thousand and O hundreds.

The hundreds increase until 9 hundreds becomes one

Counting in 10 000s

Counting in 100 000s
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The ten thousands increase until 9 ten thousands
become one more hundred thousand and O
ten thousands.

hundred thousands.

The hundred thousands increase until 9 hundred
thousands becomes one more million and O

CCXLVIII = 248

DCCLXXXIV = 784  MMXIX = 2019

Rounding to the nearest 100 000

11=2 11 =3 Rounding to the nearest 10
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Xa=1 XX = 20 XKX = 30 < round down round up >

LX = 60 LXX = 70 XXX = 80 Rounding to the nearest 1000
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DC = 600 DCC = 700 {DCCC = 800 round down round up
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